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I know how to multiply and divide whole numbers by powers of 10 and I can understand place value of decimals up to three decimal places.

Sentence Stems
It can’t be… because… 
I noticed that…
It must be … because…
If…then… 
This is different because…
This is the same because… 
This is true here because…
I already know that… so… 
Misconceptions: Why?
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Star Vocabulary

Decimal
A number that consists of a whole number and a fractional part. The decimal point separates the whole number from the fractional part.
Decimal point
A zero placed in a column to ensure that the other digits are in the correct columns.
Equivalent
Numbers that are written differently but represent the same amount.
Centimetre 

Millimetre 





I can multiply and divide decimals by multiples of 10, 100 and 1,000. I can also convert between fractions and decimals; and multiply and divide decimals by whole numbers.
.

Secure and maintain fluency in addition and subtraction within and across 10, through continued practice.




Factual & Conceptual Fluency progression

Recall the 2, 4 and 8 multiplication tables, and corresponding division facts.
Addition and subtraction within 10.
Recall the 7-multiplication table, and corresponding division facts.
Secure and maintain fluency in all multiplication tables, and corresponding division facts, through continued practice.
Recall the 11 and 12 multiplication tables, and corresponding division facts.
Recall the 3, 6 and 9 multiplication tables, and corresponding division facts.
Recall the 10 and 5 multiplication tables, and corresponding division facts.
Addition and subtraction across 10.
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For example, lopsy's mass could be 2121 kg. Here though,
we are focusing on two decimal places.)

Whole class teacher led

+ Question @ a): How have the numbers been represented
on the place value grids? What does each blue counter
represent? Why do you need to follow Flo’s example and start
by looking at the largest place value? How many 1s do the
numbers have?

Question @) a): How do you know that Lily is the lightest
rabbit without looking at the tenths or hundredths? Why does it
not help to compare the tenths? How many hundredths do the
numbers have? How do you know which number is the biggest?
Question @) b): Which two rabbits is Flopsy’s mass
between? Why do you need to look at the hundredths to
decide on Flopsy’s mass? What could Flopsy’s mass be? Is
there more than one answer?

For question @) a), show children the numbers
on a place value grid. Can children explain why this means
Lily is the lightest rabbit without having to compare the
tenths or hundredths? For 2:15 and 2-11, say aloud how
many tenths each number has. Can children explain why
comparing the 1s and tenths for these numbers does not

x [l Mos Powe

x

)

Jil MO4Power x | A MO3 P

Twill put the numbers into a place value
grid. To order the numbers, I need to start
by looking at the largest place value.

oty £ s
T [

T T

1:25 has | one and the others have 2 ones,
soLily s the lightest rabbit. Next, I will compare
the tenths. Both 215

Mally 800 and 241 have | tenth.

0 SN 5

Sonext I need
to compare the

hundredths. a

T T b

$ihos | undredth o~
S0 215 is the largest number. Lightest ———— Heaviest

Mally weighs the most. %

Lily Bob. Molly
125kg  2llkg  215kg

215 has 5 hundredths.

Lily is the lightest, Bob is second.
lightest and Molly s the heaviest.

Flopsy's mass is between Bob's and Molly’s. so between
241 kilograms and 215 kilograms.

Her moss must have hundrediths that are bigger than | but smaller
than 5. Flopsy's mass could be 212 kilograms, 213 kilograms or
214 kilograms.
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